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Host Country: India

Chandrachud Nanduri, Rajesh Kumar, Madhav Sankaranarayanan, Anubhav Balodhi,
Prasanna Seshadri

Special Notes: Odd-numbered puzzles are “evergreen” puzzles; even-numbered puzzles are hybrids of odd-numbered
puzzles, as per the chart below.
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1. Word Search [Anubhav Balodhi] (34 points)
Locate some words from ALMSHOUSES MULTIPURPOSE
the list of words in the grid. ASBESTOS OVERUSING
Words always appear along ATTIC PLATFORM
a straight line in one of the BULLET PRISONS
standard directions. COLISEUMS ROLLING
COURT ROOF
Three words will not be EXPONENT SNIPPET
found in the grid. EXTENSION STEP
FLOORS STUDIOS

Answer: Enter the missing FOLDING TELESCOPING
words, in alphabetical order, HOTSPOT TRESTLE
one word per answer space. LOCOMOTOR TURNOUTS
Example Answer:
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2. Kakuro (Small Snake) [Prasanna Seshadri] (57 points)

Place a digit from 1 to 9 into each white cell. The numbers in grey cells indicate the sum of digits in the adjacent “word”

across or down. (Across “words"” are to the right of their sums, Down “words” are below their sums.) Digits may not

repeat within a“word.”

It is possible for some “words” to not have a provided sum.

All white cells that you put the digits 1, 2, 3, or 4 in must form the shape of a“snake”in the grid. The snake is a path that

starts in a cell, goes through some number of cells orthogonally, and ends in a cell. Each cell is used at most once by

the snake. The snake may not loop around to touch itself, not even diagonally. (In other words, if two cells in the snake

touch orthogonally, then they must be exactly one cell apart along the path of the snake, and if two cells in the snake
touch diagonally, then they must be exactly two cells apart along the path of the snake.)

A rounded square in a cell (when provided) indicates an end

of the snake.

The circles in cells are only used for entering your answers.

Answer: Enter the contents of each circled cell, reading the
cells from left to right. (Ignore which row the circles are in.)

Example Answer: 68317
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3. Pentominous [Chandrachud Nanduri] (46 points)

Divide the grid into pentominoes such that every cell in the grid is part of exactly one pentomino.
Pentominoes of the same shape (rotations and reflections of a pentomino count as the same
shape) cannot touch each other along an edge (but they may touch diagonally). Some letters are
given in the grid. Each letter must be part of a pentomino with that letter’s shape. It is permissible
for a pentomino to contain more than one letter. (It is possible for some pentomino shapes to
never appear in the grid, or more than once.)

The letter-to-shape correspondence for pentominoes has been supplied for you.
In the competition puzzle, there may be black areas that are not part of the grid.

Answer: For each designated row, enter the letter for the pentomino that each cell belongs to,
from left to right.

Example Answer: IPPPI, IUFUI
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4, Star Battle (Myopia) [Chandrachud Nanduri] (15 points)

Place stars into some cells in the grid, no more than one star per cell. Each row and each $ s

column, must contain exactly two stars (one star in the example). Cells with stars may not 4 w

touch each other along an edge or a corner. 6 D¢
1 «

Arrows in a cell indicate all closest stars to that cell along the four orthogonal directions (if 3 " & 1.

there are multiple stars of the same closest distance to the cell, there will be multiple arrows). 5 &

If there is a single star in the same cell as a cell with arrows, then all four arrows must be 3 e a

present (as the distance is 0 in all directions).
The numbers on top of the diagram are for Answer purposes only.

Answer: For each row from top to bottom, enter the number of the first column from the left
where a star appears (the number on top of that column). Use only the last digit for two-digit
numbers; e.g., use ‘0’ if the first star appears in column 10.

Example Answer: 461352

g 1 2 3 4 5 6 7 8 9 0 1

&
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5. Battleships [Chandrachud Nanduri] (29 points)

Locate the indicated fleet of ships in the grid. Ships may be .... . . .. . .

rotated before being placed in the grid. Each piece of a ship

occupies a single cell. A cell that does not contain a ship piece

is considered “sea”. Ships do not touch each other, not even ... ... ' ‘ ' ‘
diagonally (that is, if two ship pieces are in cells that share an

edge or a corner, they must be part of the same ship). The ; 7 3 4 5 6 7 8
contents of some cells are given for you (wavy lines indicate

”sea"). 2 4 4 2 3 1

Each number to the top or left of the grid reveals the number 2
of ship pieces that must be located in that row or column
(including any that might be given for you).

The numbers on the far top of the diagram are for Answer
purposes only.

Answer: For each row from top to
bottom, enter the number of the first
column from the left where a ship piece
appears (the number on the far top of
that column). Use only the last digit for
two-digit numbers; e.g., use‘0’if the
first ship piece appears in column 10. If
the row has no ship pieces, enter'0’,

A DM W DNONDN -

SN RN = W) e

Example Answer: 1317171

6. Masyu (Canal View) [Prasanna Seshadri] (19 points)

Draw a single loop that passes orthogonally through centers of cells. The loop must go through all cells with diamonds.
The loop may not intersect itself or enter the same cell more than once. The loop must go straight through the cells
with white diamonds, with a turn in at least one of the cells immediately before or after each white diamond. The loop
must make a turn in all the black diamonds, but must go straight in both cells immediately before and after each black
diamond.

Cells without diamonds that the loop goes m
through are considered “canal” cells. Each number

indicates the total count of canal cells connected
in line vertically and horizontally to the numbered
cell. (Note that the meaning of “connected in line”
here ignores the actual path of the loop.) Unlike

in a standard Canal View puzzle, it is permissible to
have a 2x2 group of canal cells, and the canal cells €> < : >
do not need to all be connected.

The connected “canal” cells in the example solution @ ‘
are only shaded for illustrative purposes, and are not

part of the puzzle solution.

Answer: For each designated row, enter the letter m

for each cell, from left to right. The letter for a

cell is'1’if the path goes straight through the cell,

‘1if the path turns in the cell, and 'X’if the path

does not go through the cell. You may use
characters, as long as they are distinct. +

Example Answer: TTLLIX, XXXLIL

>
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7. Kakuro [Prasanna Seshadri] (65 points)
Place a digit from 1 to 9 into each white cell. The numbers 1539 20 6 28 40 12
in grey cells indicate the sum of digits in the adjacent “word” | | 6
across or down. (Across “words” are to the right of their sums, 19
Down “words” are below their sums.) Digits may not repeat 38
within a“word”
It is possible for some “words” 19 7 .
to not have a provided sum.

7 13416 24
The circles in cells are only used N 21758 24
for entering your answers. N 4| 7+9 8 [
B - 35 14
130, 9Ji

Answer: Enter the contents 513 (5] 24
of each circled cell, reading 0| | ‘ - : 5 13 14
the cells from left to right. - 14
(Ignore which row the circles 1717512 37 _P =
arein.)
Example Answer: 17752 3 22

8. Snaky Word Search [Anubhav Balodhi] (24 points)

Locate the list of words in the grid. Each word is in the shape of a “snake” (with diagonals) in the grid. A snake is a path
that starts at a letter, goes through some number of letters in any of the standard eight directions, and ends at a letter.
Each letter is used at most once by a snake. A snake may not make turns sharper than 90 degrees and may not loop
around to touch itself, not even diagonally. (In other words, if two letters in a snake are adjacent orthogonally, then
they must be exactly one apart along the path of that snake, and if two letters in a snake are adjacent diagonally, then
they must be exactly one or two letters apart along the path of that snake).

Snakes cannot touch each other, not even diagonally.

Answer: For each (o= EEE|] TWO S NAKYSEARTUCH
designated row, fF RW E E| THREE
enter its contents. OUWOLMRl FOuR m E B OAEIBWONOIBDO
Use’o’.foracell |t 171U
occupied by a snake W=o F O % LAAMAMCOTLOC
d’‘X'f Il not
i TANUCESNNVE
Y th
they are distinct. BO A m A LMONUDUOMANR
Example Answer: COBRA R ATATAIBAMA |
PP CONSTRICTOR A A | BO I OABEKOC
KRAIT
MAMB A MKRA|AOBPAET
RATTLESNAKE |DAPYYYYYPSO
N O H Y PP Y TOR




WPF PUZZLE GP WPF Pg7of 11

ROUND 7/ SRAND PRIC T eIy T4l NL:

2023 WorLD PuzzrLe FEDERATION

9. Myopia [Madhav Sankaranarayanan] (44 points)

consists of orthogonal line segments between the PP o o ®
dots. Arrows in a cell indicate all closest loop edges 4

to that cell along the four orthogonal directions (if
there are multiple loop edges of the same closest J
distance to the cell, there will be multiple arrows). ‘1

Answer: For each designated @ t’

row, enter its contents from
left to right. Use ‘0’ for a cell

inside the loop and ‘x’for a + € ‘%’
cell outside the loop. You may
use two other characters, as
long as they are distinct.

Draw a single, non-intersecting loop that only 41
>

Example Answer:
0O00X00, XXO000

10. Pentominous (Star Battle)
[Chandrachud Nanduri] (35 points) m € 3

] { ] { ] { ] { ] { ]
Place stars into some empty cells in the grid, no more + J
than one star per cell. Each row and each column o o o o o o o o o o ®

must contain exactly two stars (one star in the
example). Cells with stars may not touch each other

along an edge or a corner.
Then, divide the grid into pentominoes such that Iﬂ IZ:E::I
every unstarred cell in the grid is part of exactly P

one pentomino. Pentominoes of the same shape L

(rotations and reflections of a pentomino count as Z
the same shape) cannot touch each other along an U Y

edge (but they may touch diagonally). Some letters
are given in the grid. Each letter must be part of a

pentomino with that letter’s shape. It is permissible I W T

for a pentomino to contain more than one letter. (Itis
possible for some pentomino shapes to never appear T

in the grid, or more than once.) E I

The letter-to-shape correspondence for
pentominoes has been supplied for you. P

Answer: For each designated row, enter
the letter for the pentomino that each cell X F
belongs to, from left to right. If the cell
contains a star, enter’s’instead. F V

Example Answer: SUNNPP, TTTSLZ m P

v

]
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11. Canal View [Chandrachud Nanduri] (26 points)

Shade some empty cells; cells with diamonds
cannot be shaded. All shaded cells connect along
edges to create a single connected region. (Itis
permissible for the region to touch itself at a corner,
but touching at a corner does not connect the
region.) No 2x2 group of squares can be entirely
shaded.

Each number in a diamond indicates the
total count of shaded cells connected

in line vertically and horizontally to the
numbered cell.

Answer: For each designated row, enter
its contents from left to right. Use ‘x’for
an unshaded cell and ‘0’ for a shaded
cell. You may use two other letters or
numbers, as long as they are distinct.

Example Answer:
XO0X0OX00, O0XO00XO

&

DD

O

O
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O

12. Masyu (Battleships) [Madhav Sankaranarayanan] (58 points)

Draw a single loop that passes orthogonally through
centers of cells. The loop must go through all cells with
a white or wavy circle. The loop may not intersect itself
or enter the same cell more than once. The loop must
go straight through the cells with white circles, with a
turn in at least one of the cells immediately before or
after each white circle. The loop must make a turn in
all the wavy circles, but must go straight in both cells
immediately before and after each wavy circle.

Then, the indicated fleet of ships must be placed in
the grid in cells that the loop does not pass through.
Ships may be rotated. Each piece of a ship occupies

a single cell. Ships do not touch each other, not even
diagonally (that is, if two ship pieces are in cells that
share an edge or a corner, they must be part of the
same ship). Some ship pieces are given for you. Cells
with wavy lines cannot contain ship pieces (but may or

may not contain parts of the loop).

Answer: For each designated row, enter the
letter for each cell, from left to right. The letter
fora cell is‘1’if the path goes straight through
the cell, ‘v’ if the path turns in the cell, and ‘X’

if the path does not go through the cell. You
may use other characters, as long as they are
distinct.

XA XA
NN ANV AN
NN NN
EAN AN EAN AN
G AAR A
PANVANAY
ANVANVAS
N
ANVANVAS

O
O ©

RS R RSATN

ENANVN AN

NAA
Example Answer: m O % O O
TILLIX, XXXLIL N AN
' oo o
N AAA

~

NIAANAIN
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13. Snake [Chandrachud Nanduri] (84 points) /7 4 6 3 4 5 7/

Locate a“snake”in the grid. The snake is a path
that starts in a cell, goes through some number
of cells orthogonally, and ends in a cell. Each ‘ ‘
cell is used at most once by the snake. The

snake may not loop around to touch itself, not m
even diagonally. (In other words, if two cells

in the snake touch orthogonally, then they ‘ ‘
must be exactly one cell apart along the path
of the snake, and if two cells in the snake touch
diagonally, then they must be exactly two cells
apart along the path of the snake.) Numbers ‘ ‘ ‘
outside the grid, if given, indicate how many cells

in that row or column are occupied by the snake. 4

A cross in a cell (when provided) indicates that the ‘
snake cannot go through the cell. A diamond in a cell
(when provided) indicates that the snake must go 6 ‘
through (or end in) that cell. A rounded square in a
cell (when provided) indicates that that cell mustbe 4 ‘ ‘
an end of a snake.

*

Answer: For each designated row,
enter its contents. Use ‘0’ for a cell 12 24
occupied by the snake and 'xX’for a » 2
cell not occupied by the snake. You 4
may use other characters, as long as
they are distinct.

N —

Example Answer: OOXXX, XXX00

M

X
OO0 WN=—
ooounbhN=—
ooooNuIN —
OWOoONODN-—

O o

14. Kakuro (Number Search) [Prasanna Seshadri] (52 points)

Place a digit from 1 to 9 into each white cell. The numbers
in grey cells indicate the sum of digits in the adjacent
“word” across or down. (Across “words” are to the right of 29 26 10 20
their sums, Down “words” are below their sums.) Digits may

not repeat within a“word.” |

28 '
Itis possible for some “words” to not have a provided sum. 26 36

After all the digits are placed, the list of numbers must be
locatable in the white cells of the grid. Numbers always
appear in aline in one of the eight standard directions. 20
Unlike in a standard word search, the numbers must not 23
intersect or overlap in any digits (but diagonal numbers 26
may have their paths intersect at cell corners).

20 14
The circles in cells are only used for 13

enteringyour answers. 15/ % 33

[e)}

Answer: Enter the contents of

each circled cell, reading the cells
from left to right. (Ignore which g
row the circles are in.) T

[ A QP g
»
I AN

|
R | W
wv

N | (ND0 RO

35

SE \ N\ )\
4

Example Answer: 286224 $2/8/6/2/2/4 m

N —\‘\D
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15. Star Battle [Rajesh Kumar] (52 points)
Place stars into some cells in the grid, no more than one ? 1 2 3 i s 6 7 8 9 0
star per cell. Each row, each column, and each outlined

region must contain exactly two stars. Cells with stars
may not touch each other along an edge or a corner.

The numbers on top of the diagram are for Answer purposes
only.

Answer: For each row from top to bottom, enter the
number of the first column from the left where a star
appears (the number on top of that column). Use only
the last digit for two-digit numbers; e.g., use‘0’if the first
star appears in column 10.

Example Answer: 261627135

555555555

A Ay
A DAY
vl ¥

Vw/ =N o= o N ¢
s
o>

16. Pentominous (Myopia) [Prasanna Seshadri] (66 points)

Divide the grid into pentominoes such that every

cell in the grid is part of exactly one pentomino.

Pentominoes of the same shape (rotations and

reflections of a pentomino count as the same P
L

shape) cannot touch each other along an edge
(but they may touch diagonally). (It is possible
for some pentomino shapes to never appear in
the grid, or more than once.)

Arrows in a cell indicate all closest cells that + P
are part of a different pentomino as that cell’s
along the four orthogonal directions (if there
are multiple other such cells of the same closest m o LS
distance to the cell, there will be multiple arrows).

The letter-to-shape correspondence for
pentominoes has been supplied for you, but this is
only needed for submitting your answer.

Answer: For each designated row, enter the letter
for the pentomino that each cell belongs to, from I P I <+ >
left to right.

Example Answer: LNNPP, YYYYW

CH»

| ¢ s
L

N -
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17. Masyu [Rajesh Kumar] (28 points)
Draw a single loop that passes orthogonally O O
through centers of cells. The loop must go
through all circled cells. The loop may not O ‘ ‘
intersect itself or enter the same cell more .
than once. The loop must go straight through
the cells with white circles, with a turn in at O . O . O . O . O

least one of the cells immediately before or
after each white circle. The loop must make a
turn in all the black circles, but must

go straight in both cells immediately m

o
O O
o

O
o
before and after each black circle. O
Answer: For each designated row, . .
enter the letter for each cell, from left O O . O .
path goes srght though he el @® O @ O O
O
o
O

‘L'if the path turns in the cell, and 'x’ O .

if the path does not go through the cell. You
Ce00000

$2€;nucs§ other characters, as long as they are O
OO0 @ O
+ ® O

18. Battleships (Canal View) [Anubhav Balodhi] (69 points)

Locate the indicated fleet of ships in the grid. Ships may be rotated .... . . .. . .
before being placed in the grid. Each piece of a ship occupies a

single cell. A cell that does not contain a ship piece and does not ... . . . ‘ . ‘ .
contain a diamond is considered “sea”. Ships do not touch each

other, not even diagonally (that is, if two ship pieces are in cells that ; 7 3 4 s 6 7 8
share an edge or a corner, they must be part of the same ship). The

contents of some cells may be given for you. 2 4 4

>

Example Answer:
LILXXX,LITILX

Each number to the top or left of the grid reveals the number of 4 @
ship pieces that must be located in that row or column (including
any that might be given for you).

All“sea” cells connect along edges to create a single connected 4 @
region. (It is permissible for the region to touch itself at a corner, @

but touching at a corner does not connect the region.) The sea

region may not contain any 2x2 group of squares. 4 @

Each number in a diamond indicates the total count of sea cells @
connected in line vertically and horizontally to the numbered cell. : :

The numbers on the far top of the diagram are for Answer purposes 1
Only. 1 2 3 4 5 6

Answer: For each row from top to bottom, enter the number of the first column from the
left where a ship piece appears (the number on the far top of that column). Use only the
last digit for two-digit numbers; e.g., use ‘0’ if the first ship piece appears in column 10. If
the row has no ship pieces, enter ‘0"

Example Answer: 615251




